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QUESTION 1

Which product provides storage for a VxBlock?
A. Dell EMC VMAX

B. Cisco UCS

C. Cisco Nexus

D. VMware vSphere

Correct Answer: A

Reference: https://shop.dellemc.com/en-us/VxBlock-and-Vblock-Products/Dell-EMC-VxBlock-System-1000/p/Dell-EMC-
VxBlock-System-1000

QUESTION 2

Which component controls the behavior of the VxFlex OS environment?
A. MDM

B. SDC

C. SDS

D. SVM

Correct Answer: A

Reference: https://www.dellemc.com/mk-mk/collaterals/unauth/white-papers/products/ready-
solutions/h17332_dellemc_vxflex_os_networking_best_practices.pdf

QUESTION 3

Which VxRail node type supports only hybrid storage?
A. P Series

B. S Series

C. G Series

D. E Series

Correct Answer: A

Reference: https://www.storagereview.com/node/7230
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QUESTION 4

A business has enabled employees to work from any location and use multiple devices. This has introduced new risks
for safekeeping important company data.

Which transformation would address this risk?
A. Security

B. Workforce

C.IT

D. Digital

Correct Answer: B

Reference: https://assets.unisys.com/Documents/Global/Partners/Unisys_Dell EMC_PB_DWPS.pdf

QUESTION 5

An IT organization would like to transform their datacenter into a similar footprint using their existing infrastructure.
Which type of technology is needed?

A. Virtualization

B. Public Cloud

C. Hyper-Converged
D. Converged
Correct Answer: D

Reference: https://www.parallels.com/blogs/ras/converged-infrastructure/
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